NEW TO RANGE

2023-09 (BY APPLICATION)

ACURA NSX 05/16-
TIE ROD END LH
6702008 rotbasi, 6n sol M14x1,5
_ 53560T6NAO1 HaKOHEYHUK pPyNeBoit TArn PAIR:6702009
» - Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
6702009 rotbasl, n sag M14x1,5
. 53540T6NAO1 HaKOHEYHWK pPy/NeBO TArn PAIR:6702008
- X Rétula barra de acoplamiento
Rotule de direction
ACURA TL UA6-UA7 (3rd Gen.) 08/03-08/08
TIE ROD END BOTH SIDES
6701000 rotbasl, arka sag-sol M18x1,5
52390SEPAO3 S2 HaKOHEYHUK pyneBoii TArmn
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END BOTH SIDES
6701001 rotbasl, arka sag-sol M18x1,5 LHT

52390SEPAO3 S3

HaKOHEYHUK pPyneBoit TAru
Rétula barra de acoplamiento
Rotule de direction

=0
Ol

6705002

52390SEPA02
52390SEPA03 S1

STRUT CONTROL ARM
denge kolu, arka sag-sol
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

BOTH SIDES,REAR
L=193 mm

ACURA

TL UAS-UA9 (4th Gen.)

08/09-08/14

6701000

52390SEPA03 S2

TIE ROD END
rotbasl, arka sag-sol
HaKOHEUYHUK pyneBow TArm

Rétula barra de acoplamiento
Rotule de direction

BOTH SIDES
M18x1,5

6701001

52390SEPAO3 S3

TIE ROD END
rotbasl, arka sag-sol
HaKOHEUYHUK pyneBow TArn

Rétula barra de acoplamiento
Rotule de direction

BOTH SIDES
M18x1,5 LHT

6705002

52390SEPA02
52390SEPAO3 S1

STRUT CONTROL ARM
denge kolu, arka sag-sol
pbivar

Barra oscilante, suspension de ruedas
Triangle de suspension

BOTH SIDES,REAR
L=193 mm

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

10of32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

ALFA ROMEO GIULIA (952) 10/15-
TRACK CONTROL ARM LH
1005000 rotilli kol, 6n sol FRONT
50542997 pbluar PAIR:1005001
50545134 Barra oscilante, suspension de ruedas
50552626 Triangle de suspension
TRACK CONTROL ARM RH
1005001 rotilli kol, 6n sag FRONT
50542995 pbiyar PAIR:1005000
50545135 Barra oscilante, suspension de ruedas
50552624 Triangle de suspension
1000036 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
¥ rotilli kol burcu, 6n sag-sol
) ) | 50552624 S1 calineHTbnoK FOR 1005000/1
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
AUDI A6 C8 (4A2) 02/18- \»\ ’S .
— g
1109030 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, 6n

M 4MO0505292F

pbluar
Barra oscilante, suspensién de ruedas
Triangle de suspension

PAIR:1109031

1109031

H 4M0505291F

TRACK CONTROL ARM
denge kolu, arka sol, 6n
pbiyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR,LH

PAIR:1109030

TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
1100132 rotilli kol burcu, 6n sag-sol, alt, arka 74,5x12,2x80 mm
80A407693D S1 caineHTbnok FOR 1109153/4
80A407693E S1 Casquillo cojinete, brazo oscilante
80A407634D 51 Silent bloc de suspension

AUDI A7 (4KA) 10/17-

1109030 TRACK CONTROL ARM REAR,RH

denge kolu, arka sag, 6n

w 4MO0505292F

pbiyar
Barra oscilante, suspensién de ruedas
Triangle de suspension

PAIR:1109031

1109031

gf’—_-\ 4MO0505291F

TRACK CONTROL ARM
denge kolu, arka sol, 6n
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,LH

PAIR:1109030

1100132

80A407693D S1
80A407693E S1
80A407694D S1

TRACK CONTROL ARM BUSH
rotilli kol burcu, 6n sag-sol, alt, arka
caineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,FRONT
74,5x12,2x80 mm

FOR 1109153/4

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

20f 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

AUDI E-TRON

01/18-

1109030
M 4M0505292F

TRACK CONTROL ARM
denge kolu, arka sag, 6n
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,RH

PAIR:1109031

1109031
M 4M0505291F

TRACK CONTROL ARM
denge kolu, arka sol, 6n
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,LH

PAIR:1109030

AUDI Q4 E-TRON

01/22-

2907130
G —————  1EA423810C

AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES

M16x1,5;M16x1,5;L=412 mm

AUDI Q5 (FY)

09/16-

1100132

80A407693D S1
80A407693E S1

TRACK CONTROL ARM BUSH
rotilli kol burcu, 6n sag-sol, alt, arka
caineHT6N0K

Casquillo cojinete, brazo oscilante

BOTH SIDES,FRONT
74,5x12,2x80 mm

FOR 1109153/4

80A407694D 51 Silent bloc de suspension
1109030 TRACK CONTROL ARM REAR,RH
_ denge kolu, arka sag, on
H_ 4M0505292F pbiuar PAIR:1109031

Barra oscilante, suspension de ruedas
Triangle de suspension

1109031
M 4MO0505291F

TRACK CONTROL ARM
denge kolu, arka sol, 6n
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,LH

PAIR:1109030

AUDI Q7 (4m)

09/15-

1109030
M 4M0505292F

TRACK CONTROL ARM
denge kolu, arka sag, 6n
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,RH

PAIR:1109031

1109031
M 4MO0505291F

TRACK CONTROL ARM
denge kolu, arka sol, 6n
pbluar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR,LH

PAIR:1109030

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

30f32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

AUDI Q8 (4MN) 07/18 - ) g -

1109030 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, 6n

) AMO505292F pbiuar PAIR:1109031

Barra oscilante, suspension de ruedas
Triangle de suspension

1109031 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, 6n

M 4MO0505291F poar PAIR:1109030

Barra oscilante, suspension de ruedas
Triangle de suspension

BMW 3 SERIES (F30) 10/11 -
1205192 rotil kol 6n sasalt FRONT LOWER
31126798254 pblyar PAIR:1205193

Barra oscilante, suspensién de ruedas

Triangle de suspension

1205 193 TRACK CONTROL ARM LH
rotilli kol, 6n sol, alt FRONT LOWER
—— 31126798253 pblyar PAIR:1205192
@ Barra oscilante, suspensién de ruedas

Triangle de suspension

BMW 3 SERIES (G20) 11/18-
1277086 AXIAL JOINT COMPLETE RH
) komple rotmili, n sag
¥ 32106871893 S1 pynesas TAara B cbope PAIR:1277087

Barra de acoplamiento
Biellette de direction, comple

1277087 AXIAL JOINT COMPLETE LH
@ komple rotmili, 6n sol
w’ 32106871889 S1 pynesas Tara B c6ope PAIR:1277086
¢ — )
- Barra de acoplamiento
Biellette de direction, comple
BMW X3 (GO1, F97) 08/17-
AXIAL JOINT COMPLETE RH
) 1277086 komple rotmili, n sag
@ 32106871893 S1 pynesas TAra B cbope PAIR:1277087
g L Barra de acoplamiento
Biellette de direction, comple
1277087 AXIAL JOINT COMPLETE LH
& komple rotmili, &n sol
u’ ! 32106871889 S1 pynesas Tara B cbope PAIR:1277086

Barra de acoplamiento
Biellette de direction, comple

STOCK AND PRICE INFO ONLINE
2023-09 (BY APPLICATION) WWW FORMPART COM 40f32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

BMW X4 (G02, F98) 04/18 -
TIE ROD END LH
r" 1202074 rotbasl, 6n sol M16x1,5
“ 32108096417 HAKOHEYHUK pyNeBoi TAru
’_&, Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
“.‘ 1202075 rotbasli, 6n sag M16x1,5
h 32108096418 HAKOHEUYHUK py/NeBoW TArU
M Rétula barra de acoplamiento
Rotule de direction
1277086 AXIAL JOINT COMPLETE RH

32106871893 S1

komple rotmili, 6n sag
pynesas Tara B cbope

Barra de acoplamiento
Biellette de direction, comple

PAIR:1277087

1277087

32106871889 S1

AXIAL JOINT COMPLETE
komple rotmili, 6n sol
pyneBas Tara B c6ope

Barra de acoplamiento
Biellette de direction, comple

LH

PAIR:1277086

1277081 AXIAL JOINT COMPLETE LH
'7 komple rotmili, 6n sol
i 32109500957 pynesas Tara B cbope PAIR:1277082
Mf -& Barra de acoplamiento
Biellette de direction, comple
1277082 AXIAL JOINT COMPLETE RH
komple rotmili, 6n sag
32109500958 pynesas Tara B cbope PAIR:1277081

Barra de acoplamiento
Biellette de direction, comple

BMW X5 (GO5 , F95) 08/18-
TRACK CONTROL ARM RH
oS 1205194 rotilli kol, 6n sag, alt, arka FRONT LOWER
w 31106878082 pbiuar PAIR:1205195
Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
Z 1205195 rotilli kol, 6n sol, alt, arka FRONT LOWER
w 31106878081 pbluar PAIR:1205194
Barra oscilante, suspensién de ruedas
Triangle de suspension
BMW X7 (G07) 03/19-
TRACK CONTROL ARM RH
1205194 rotilli kol, 6n sag, alt, arka FRONT LOWER
31106878082 pbiyar PAIR:1205195

.

2023-09 (BY APPLICATION)

Barra oscilante, suspension de ruedas

Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

50f 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

) 1205195

m 31106878081

TRACK CONTROL ARM
rotilli kol, 6n sol, alt, arka
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

LH
FRONT LOWER

PAIR:1205194

BUICK CENTURY Sedan 10/96 - 02/05
TIE ROD END BOTH SIDES
} 5602089 rotbasl, 6n sag-sol M14x1,5
‘ 19418696 HAKOHEYHUK py/NeBoW TArU
L —— Rotula barra de acoplamiento
- Rotule de direction
BUICK LA CROSSE 08/10-08/16
5609156 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag
3 22927293 pbiyar PAIR:5609157
Barra oscilante, suspension de ruedas
Triangle de suspension
5609157 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol
22927292 pblyar PAIR:5609156
Barra oscilante, suspension de ruedas
Triangle de suspension
BUICK REGAL 08/11-08/16
5609156 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag
22927293 pbivar PAIR:5609157
Barra oscilante, suspensién de ruedas
Triangle de suspension
5609157 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol
22927292 pbiyar PAIR:5609156
Barra oscilante, suspensién de ruedas
Triangle de suspension
- .
CADILLAC DTS 06/05-12/11 - e
. TIE ROD END BOTH SIDES
i 5602090 rotbasi, 6n sag-sol M14x1,5
19418694 HAKOHEUYHUK pyNeBoi TArU

ol

Rétula barra de acoplamiento
Rotule de direction

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

6 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

CHEVROLET CAMARO 6th Generation 08/15-
LH
5605015 fotili kol onsal FRONT

‘ . 23317367 pbluar

PAIR:5605016

@ Barra oscilante, suspension de ruedas
Triangle de suspension
5605016 TRACK CONTROL ARM RH
rotilli kol, 6n sag FRONT
= . 23317368 pbiyar PAIR:5605015
@ Barra oscilante, suspension de ruedas
Triangle de suspension
5603045 TRACK CONTROL ARM BUSH BOTH SIDES
rotil, 6n sag-sol FRONT
\ \ - 23317367 S1 waposas onopa FOR:5605015/6
23317368 S1 Rétula de suspension/carga

Rotule de suspension

CHEVROLET C2500 PICK-UP 10/96 - 12/01

5609099 WISHBONE

salincak, 6n, Ust sag
12361036 pbiyar

Triangle de suspension

RH, FRONT
UPPER

Pair: 5609100

5609100 WISHBONE

salincak, on, Ust sol
12361035 pbiyar

Barra oscilante, suspensién de ruedas

A Barra oscilante, suspensién de ruedas

Triangle de suspension

LH, FRONT
UPPER

Pair: 5609099

CHEVROLET IMPALA (USA) 08/14-12/19

5609156 TRACK CONTROL ARM

denge kolu, arka sag
22927293 pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,RH

PAIR:5609157

Barra oscilante, suspensién de ruedas

5609157 TRACK CONTROL ARM
denge kolu, arka sol
22927292 pbiuar

Triangle de suspension

REAR,LH

PAIR:5609156

CHEVROLET MALIBU 8th Generation 08/13-08/16

5609156 TRACK CONTROL ARM
denge kolu, arka sag
22927293 pbiyar
Barra oscilante, suspensién de ruedas

Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-09 (BY APPLICATION) WWW.FORMPART.COM

REAR,RH

PAIR:5609157

7 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

5609157
22927292

TRACK CONTROL ARM
denge kolu, arka sol
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,LH

PAIR:5609156

CHEVROLET TAHOE 08/92-08/00
WISHBONE RH, FRONT
5609099 salincak, 6n, Gst sag UPPER
12361036 pbiyar Pair: 5609100
Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE LH, FRONT
5609100 salincak, 6n, st sol UPPER
12361035 pbiyar Pair: 5609099
Barra oscilante, suspensién de ruedas
Triangle de suspension
CHRYSLER ASPEN (HG) 04/08-
6009098 WISHBONE FRONT,RH
salincak, 6n sag, Ust
52113209AB pblyar PAIR:6009099

Barra oscilante, suspension de ruedas
Triangle de suspension

52113208AB

ﬂ 6009099

WISHBONE
salincak, on sol, st
pblyar noaBecku

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT,LH

PAIR:6009098

CHRYSLER PACIFICA 08/04-08/08
6009126 STRUT CONTROL ARM REAR,LH
denge kolu, arka sol
4743239AA pbiyar PAIR:6009127
Barra oscilante, suspensién de ruedas
Triangle de suspension
6009127 STRUT CONTROL ARM REAR,RH
denge kolu, arka sag
4743238AA pblyar PAIR:6009126
Barra oscilante, suspensién de ruedas
Triangle de suspension
DODGE DAKOTA 08/97-07/99
6000093 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol, st
5166385AA caineHT6noK FOR 6009138/9

2023-09 (BY APPLICATION)

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

8 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6007046 TIE ROD AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M15x1,5;M14x1,5;L=344 mm
_ 52106477AB pynesas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
BOTH SIDES
o~ 6003051 BALLJOINT
rotil, 6n sag-sol, alt FRONT LOWER
52038902AC S1 waposasn onopa 50 mm
52038903AC S1 Rétula de suspension/carga
Rotule de suspension
6009123 WISHBONE FRONT,LH
salincak, 6n sol, alt
52038903AC pbiyar PAIR:6009124
Barra oscilante, suspensién de ruedas
Triangle de suspension
6009124 WISHBONE FRONT,RH
salincak, 6n sag, alt
52038902AC pbiyar PAIR:6009123
Barra oscilante, suspensién de ruedas
Triangle de suspension
6000086 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol 33,6x14,2x76,2 mm
52038902AC S2 caineHT6noK FOR 6009123/4
52038903AC 52 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
6000087 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol 38,2x12,2x76,2 mm
52038902AC S3 calineHTbnokK FOR 6009123/4
52038903AC S3 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
DODGE DAKOTA 08/05-08/09
6000093 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol, Ust
5166385AA calineHTbnoK FOR 6009138/9

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

DODGE

DURANGO 1st Generation

08/88-08/03

_

6007046

52106477AB

TIE ROD AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacidn axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M15x1,5;M14x1,5;L=344 mm

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

9 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

DODGE DURANGO 2nd Generation 08/04-08/09
6009098 WISHBONE FRONT,RH
salincak, 6n sag, Ust
52113209AB pblyar PAIR:6009099
Barra oscilante, suspension de ruedas
Triangle de suspension
6009099 WISHBONE FRONT,LH
salincak, on sol, st
52113208AB pblyar noaBecku PAIR:6009098
Barra oscilante, suspension de ruedas
Triangle de suspension
DODGE DURANGO (HB) 11/03-12/10
6009098 WISHBONE FRONT,RH
salincak, 6n sag, Ust
52113209AB pblyar PAIR:6009099
Barra oscilante, suspensién de ruedas
Triangle de suspension
6009099 WISHBONE FRONT,LH
salincak, on sol, st
52113208AB pblyar noaBeckn PAIR:6009098
Barra oscilante, suspensién de ruedas
Triangle de suspension
6000090 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol, alt
52113214AA caiineHT610K FOR 6009098/9
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
6000091 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol, alt
52855292AA caineHTbnok FOR 6009098/9
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
DODGE RAM 1500 08/02-08/09
WISHBONE FRONT
6009104 salincak, on dst RWD, 8 Lug Wheels; Year only 2006-2008
52121586AD pbiyar
52121586AF Barra oscilante, suspensién de ruedas
Triangle de suspension
DODGE RAM 1500 (DJ,DS) 10/08-
6009122 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol
H 52122009AA pbiuar
52122009AB Barra oscilante, suspensién de ruedas
68078374AA

2023-09 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

10 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

6000092

52121589AA

TRACK CONTROL ARM BUSH
salincak burcu, 6n sag-sol
caineHT6noK

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,FRONT

FOR 6009104

DODGE RAM 2500 -3500 08/02-08/09 1w
1 WISHBONE FRONT
6009104 salincak, 6n iist RWD, 8 Lug Wheels; Year only 2006-2008
52121586AD pblyar
52121586AF Barra oscilante, suspensién de ruedas
Triangle de suspension
DODGE RAM 2500-3500 01/10-
) WISHBONE FRONT
6009104 salincak, 6n st RWD, 8 Lug Wheels; Year only 2006-2008
52121586AD pbiyar
52121586AF Barra oscilante, suspension de ruedas
Triangle de suspension
6000092 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol
52121589AA caineHT6N0K FOR 6009104
Casquillo cojinete, brazo oscilante

Silent bloc de suspension

FORD ESCAPE (USA) 08/07-08/12
TRACK CONTROL ARM REAR,RH
1509313 denge kolu, arka sag, alt YEAR ONLY 2009-2012
~ 9L825500C pbiuar PAIR:1509314
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM REAR,LH
- 1509314 denge kolu, arka sol, alt YEAR ONLY 2009-2012
— 918755000 pbiuar PAIR:1509313
Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD EXPEDITION 08/96 - 09/02
TIE ROD END RH
& 1501063 rotbagl, &n sag M18x1,5
2L373A130CA S1 HAKOHEUYHUK pyNeBoi TArU PLASTIC BEARING; PAIR:1501064
v Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
_-‘h 1501064 rotbasi, 6n sol M18x1,5
2L3Z3A131AAS1 HaKOHEYHUK pyneBoii TArn PLASTIC BEARING; PAIR:1501063
Y Rétula barra de acoplamiento

2023-09 (BY APPLICATION)

Rotule de direction

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

110f 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FRONT
& 15002 10 TRACK CONTRO”L ARM BUSH

salincak burcu, 6n alt, dis
6L373078B S1 caiineHTbnoKk FOR 1509151/2
6L373079B S1 Casquillo cojinete, brazo oscilante

Silent bloc de suspension
150021 1 TRACK CONTROL ARM BUSH FRONT

salincak burcu, 6n alt, i¢
6L3Z3078B S2 calineHTbnoK FOR 1509151/2
6L3Z3079B S2

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FORD EXPEDITION 3rd Generation 01/07-01/15
~ 1509306 STRUT CONTROL ARM BOTH SIDES,REAR
B denge kolu, arka sag-sol
- 9L1Z5A972A pbiyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
; 1500226 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
" P denge kol burcu, arka sag-sol
\ HL1Z5A972A caineHT6N0K FOR 1509306
! ¥ Casquillo cojinete, brazo oscilante
. Silent bloc de suspension
FORD EXPLORER (U251) 08/06-08/10
WISHBONE RH, FRONT
1509147 salincak, 6n, tst sag UPPER
il 6L2Z3084AA pblyar Pair: 1509148
M6L273084AA Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE LH, FRONT
1509148 salincak, 6n, st sol UPPER
6L2Z3085AA pbiyar Pair: 1509147
M6L273085AA Barra oscilante, suspension de ruedas
Triangle de suspension
7 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
, 1500225 salincak burcu, 6n sag-sol 50,5x14,2x47 mm
' 6L273084AA S2 caineHT6N0K FOR 1509147/8
| 6L273085AA 52 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
FORD EXPLORER SPORT TRAC Pick up 08/06-08/10
WISHBONE RH, FRONT
1509147 salincak, on, Ust sag UPPER
il 6L2Z3084AA pblyar Pair: 1509148
M6L273084AA Barra oscilante, suspension de ruedas
Triangle de suspension
WISHBONE LH, FRONT
1509148 salincak, 6n, Ust sol UPPER
* 6L2Z3085AA pblyar Pair: 1509147
M6L2Z3085AA

2023-09 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

12 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

/,'f :

\

1500225

6L27Z3084AA S2
6L273085AA S2

TRACK CONTROL ARM BUSH
salincak burcu, 6n sag-sol
caineHT6noK

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,FRONT
50,5x14,2x47 mm

FOR 1509147/8

FORD F-150 (USA) 10th Generation 08/97-08/03
TIE ROD END RH
& 1501063 rotbagl, n sag M18x1,5
2L37Z3A130CA S1 HaKOHEYHUK pyneBoii TArun PLASTIC BEARING; PAIR:1501064
v Rotula barra de acoplamiento
Rotule de direction
TIE ROD END LH
ﬁh 1501064 rotbasi, 6n sol M18x1,5
21L3Z3A131AAS1 HaKOHEYHUK pyneBoii TArmn PLASTIC BEARING; PAIR:1501063
, Rétula barra de acoplamiento
Rotule de direction
FORD F-150 08/96-12/01
- 15002 10 TRACK CONTROL ARM BUSH FRONT
salincak burcu, on alt, dis
6L3Z3078B S1 calineHTbnok FOR 1509151/2
6L373079B S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
150021 1 TRACK CONTROL ARM BUSH FRONT
salincak burcu, 6n alt, i¢
6L323078B S2 caiineHT6n0K FOR 1509151/2
613730798 52 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
FORD F-150 (USA) 12th Generation 08/09-08/15

.:1
-
¥

1502120

AL3Z3A130A

TIE ROD END

rotbasi, 6n sag-sol, dis
HaKOHEUYHUK pyneBow TArn
Rétula barra de acoplamiento
Rotule de direction

BOTH SIDES
M16x1,5

FORD F-250 ,F250 SUPER DUTY 01/99-07/08
TIE ROD END RH
‘r‘~ 1501063 rotbasi, 6n sag M18x1,5
2L373A130CA S1 HAKOHEUYHUK pyNeBoi TArU PLASTIC BEARING; PAIR:1501064
v Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
_-1# 1501064 rotbasi, 6n sol M18x1,5
‘I 21L373A131AAS1 HaKOHEYHUK pyneBoii TArn PLASTIC BEARING; PAIR:1501063

2023-09 (BY APPLICATION)

Rétula barra de acoplamiento
Rotule de direction

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

13 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FORD FUSION (USA) 2nd Generation 08/13-
i WISHBONE RH,FRONT
1509222 salincak, 6n sag, alt LOWER
FG9Z3078B pbiyar Pair: 1509223
FGSZ3078D Barra oscilante, suspension de ruedas
FG3Z3078E Triangle de suspension
. WISHBONE LH,FRONT
1509223 salincak, 6n sol, alt LOWER
FG9Z3079B pblyar noABecKu Pair: 1509222
FGSZ3079D Barra oscilante, suspensién de ruedas
FG9Z3079E Triangle de suspension
FORD KUGA Il 01/20-
, TIE ROD END LH
k] 1502118 rotbasi, 6n sol M16x1,5
- 2500067 HAKOHEYHUK pyneBoi TAru PAIR:1502119
LX6C3290AB Rétula barra de acoplamiento
Rotule de direction
2 TIE ROD END RH
‘i 1502119 rotbasi, 6n sag M16x1,5
— 2500065 HAKOHEUYHUK py/NeBoW TAru PAIR:1502118
LX6C3289AB Rétula barra de acoplamiento
Rotule de direction
= 1508183 STABILIZER LINK FRONT
denge rotu, 6n sag-sol
> LX613B438AEA S1 cTolKa cTabunusartopa
T Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
1508184 STABILIZER LINK REAR
denge rotu, arka sag-sol
2416280 S1 cToliKa ctabunusaropa
i LX615C486ANA S1 Travesafios/barras, estabilizador
- Biellette de barre stabilisatrice
FORD MERCURY MARINER USA 08/09 - 08/11
TRACK CONTROL ARM REAR,RH
1509313 denge kolu, arka sag, alt YEAR ONLY 2009-2012
~ 91.875500C pbluar PAIR:1509314
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM REAR,LH
- 1509314 denge kolu, arka sol, alt YEAR ONLY 2009-2012
— 9L875500D pbiyar PAIR:1509313

Barra oscilante, suspension de ruedas
Triangle de suspension

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

14 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FORD

MUSTANG (USA) 5th Generatio 08/05 - 08/10

1509311

CR3Z3078D S1

WISHBONE
salincak, 6n sag, alt
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,RH
YEAR ONLY 2010-2014

PAIR:1509312

1509312

CR373079D S1

WISHBONE
salincak, 6n sol, alt
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,LH
YEAR ONLY 2010-2014

PAIR:1509311

FORD MUSTANG (USA)

08/10-08/15

1509311

CR373078D S1

NOAN

WISHBONE
salincak, 6n sag, alt
pbluar

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT,RH
YEAR ONLY 2010-2014

PAIR:1509312

1509312

CR373079D S1

WISHBONE
salincak, on sol, alt
pbluar

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT,LH
YEAR ONLY 2010-2014

PAIR:1509311

HONDA CIVIC X (FC) 08/16-
3607087 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol
;P e $  53610TMBHO1 pynesas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
HONDA CR-V 1l 10/06 -
3609171 WISHBONE FRONT,RH
salincak, 6n sag
51350SWAE11 pblyar PAIR:3609055
Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA $2000 06/99-
3609172 WISHBONE FRONT,LH
salincak, 6n sol, st
51460S2A003 pbiyar PAIR:3609173
51460S2A013

2023-09 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

15 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3609173 WISHBONE FRONT,RH
salincak, 6n sag, Ust
51450S2A003 S1 pblyar PAIR:3609172
5145052A013 Barra oscilante, suspension de ruedas
Triangle de suspension
3600102 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT

51450S2A003 S2
51460S2A003 S1

salincak burcu, 6n sag-sol, st
caineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FOR 3609172/3

HYUNDAI BAYON ( BC3) 05/21-
TIE ROD END LH
’!* 3702074 rotbasl, 6n sol M14x1,5
56820Q0000 HaKOHEYHUK pyneBoii TArmn PAIR:3702075
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
#!" 3702075 rotbasl, 6n sag M14x1,5
56825Q0000 HaKOHEUYHUK pyNeBoii TArmn PAIR:3702074
Rétula barra de acoplamiento
Rotule de direction
TIE ROD AXIAL JOINT BOTH SIDES
3707064 rotmili, 6n sag-sol M14x1,5;M16x1,5;L=244 mm
*E—- 56540Q0000 pynesas Tara
B Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
HYUNDAI 120 1l 11/14-
2, TIE ROD END LH
& 3702072 rotbasi, 6n sol M14x1,5
56820C8100 HAKOHEYHUK pyneBoi TAru PAIR:3702073
Rétula barra de acoplamiento
Rotule de direction
& TIE ROD END RH
= 3702073 rotbasli, 6n sag M14x1,5
56825C8100 HAKOHEYHUK pyNeBoi TAru PAIR:3702072
Rétula barra de acoplamiento
Rotule de direction
HYUNDAI 120 1l 01/20-

3702074

56820Q0000

TIE ROD END
rotbasl, 6n sol
HaKOHEUYHWUK pyneBoW TArn

Rétula barra de acoplamiento
Rotule de direction

LH

| N >
M14x1,5

PAIR:3702075

56825Q0000

Fr—
4 3702075

2023-09 (BY APPLICATION)

TIE ROD END
rotbasl, 6n sag
HaKOHEYHUK Py/NIeBO TArn

Rétula barra de acoplamiento
Rotule de direction

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

RH
M14x1,5

PAIR:3702074

16 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

lllk:lll?!l--qgn

3707064

56540Q0000

TIE ROD AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

BOTH SIDES
M14x1,5;M16x1,5;L=244 mm

HYUNDALI PALISADE (LX2) 12/18-
g 3704030 Foti an 5o, i FRONT
6 - " 5453051000 waposas onopa
- \ L Rétula de suspension/carga
—— Rotule de suspension
HYUNDAI SANTA FE IV (TM,TMA) 02/18-

® - -

3704030

5453051000

BALL JOINT
rotil, 6n sag-sol, alt
waposas onopa

Rétula de suspension/carga
Rotule de suspension

BOTH SIDES
FRONT

HYUNDAI SONATA VIl (LF) 09/15-

STABILIZER LINK FRONT,RH

3708097 denge rotu, 6n sag L=349 mm
% 54840E6000 cTolKa ctabunusartopa PAIR:3708098

Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

STABILIZER LINK FRONT,LH
3708098 denge rotu, 6n sol L=349 mm
54830E6000 cTolKa ctabunusaropa PAIR:3708097

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

HYUNDAI

TUCSON (TL)

08/15-

= 1 e

3707066

56540D7000

AXIAL JOINT

rotmili, 6n sag-sol

pyneBas Tara

Articulacidn axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES

INFINITY

FX 35 1st Generation

01/02-12/08

H

2023-09 (BY APPLICATION)

4109182

55110CG000

STRUT CONTROL ARM
denge kolu, arka sag-sol
pbluar

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

BOTH SIDES,REAR

17 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

INFINITY

Qx50 (1)

04/18-

- _

4107080

D85215NAOA

AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

BOTH SIDES

JAGUAR XF SERIES X260 05/15-
TRACK CONTROL ARM RH
4805028 rotilli kol, 6n sag, alt, arka FRONT LOWER
T2H19027 pblyar PAIR:4805029
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
4805029 rotilli kol, 6n sol, alt, arka FRONT LOWER
T2H19030 pbiyar PAIR:4805028
Barra oscilante, suspension de ruedas
Triangle de suspension
JAGUAR XE (X760) 03/15-
TRACK CONTROL ARM RH
¥ > 4805028 rotilli kol, 6n sag, alt, arka FRONT LOWER
% T2H19027 pbiyar PAIR:4805029
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
4805029 rotilli kol, 6n sol, alt, arka FRONT LOWER
T2H19030 pbiyar PAIR:4805028

Barra oscilante, suspensién de ruedas
Triangle de suspension

JEEP CHEROKEE (X)) 10/84 - 09/01
6109046 TRACK CON'I:ROL ARM FRONT
52001162 gi:fr ol o2l
Barra oscilante, suspension de ruedas
Triangle de suspension
JEEP GRAND CHEROKEE IV (WK2) 06/10- e ,@‘j“‘l\ﬁ’,
6105012 STRUT CONTROL ARM IﬁlgAR
°' :0 68263733AA ;)ibl‘-lgark sl PAIR:6105013

2023-09 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

18 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JEEP RENEGADE SUV (BU, B1) 07/14-
TIE ROD END LH
6102026 rotbasi, 6n sol M16x1,5
68440380AA HAKOHEUYHUK py/NeBoW TAru PAIR:6102027
Y 77368517 Rétula barra de acoplamiento
" . .
Rotule de direction
TIE ROD END RH
6102027 rotbasi, 6n sag M16x1,5
68440381AA HaKOHEYHUK pyneBoii TArun PAIR:6102026
P 77368518 Rotula barra de acoplamiento
—— Rotule de direction
JEEP WRANGLER Il (TJ) 08/96 - 11/07
6109046 TRACK CONTROL ARM FRONT
denge kolu, 6n, alt
Barra oscilante, suspension de ruedas
Triangle de suspension
s '-'-...”a 5
JEEP WRANGLER I11 (JK) 04/07 - y Wl
TRACK CONTROL ARM BUSH REAR
6100031 denge kol burcu, arka, tst 48,3x14,2x59 mm
52060015AD caiineHT610K FOR 6109043
52060015AE Casquillo cojinete, brazo oscilante
52060015AF 51 Silent bloc de suspension
[ Ll
JEEP WRANGLER IV (JL) 11/17-
AR BALL JOINT BOTH SIDES
8 6103026 rotil, 6n sag-sol, Ust FRONT UPPER
68388819AA waposasn onopa
Rétula de suspension/carga
. Rotule de suspension
w BALL JOINT BOTH SIDES
- 3 6103027 rotil, 6n sag-sol, alt FRONT LOWER
68388819AA S1 waposas onopa
Rétula de suspension/carga
. Rotule de suspension
PITMAN ARM CENTER
6104008 pitman kol, 6n, orta FRONT
68252098AA wapoBas onopa

Rétula de suspension/carga
Rotule de suspension

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

19 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

KIA CADENZA (YG) 02/17-
STABILIZER LINK FRONT,RH
3708097 denge rotu, 6n sag L=349 mm
gﬁ 54840E6000 cToliKa cTabunusatopa PAIR:3708098
[ ) Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

3708098 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=349 mm
49 54830E6000 CToiiKa cTabunmsatopa PAIR:3708097
@ Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

KIA CARENS IV 03/13-
BALL JOINT BOTH SIDES
4904020 rotil, 6n sag-sol FRONT
54500A4000 S1 waposas onopa
54501A4000 S1 Casquillo cojinete, brazo oscilante

Rotule de suspension

KIA CARNIVALIII (vQ) 06/05 -08/14

4905008 TRACK CONTROL ARM RH

denge kolu, arka sag REAR
w 552404D000 pbiuar PAIR:4905009
Barra oscilante, suspension de ruedas

Triangle de suspension

4905009 TRACK CONTROL ARM LH
. denge kolu, arka sol REAR
w 552304D001 pbiuar PAIR:4905008
Barra oscilante, suspension de ruedas

Triangle de suspension

KIA OPTIMA (JF) 09/15-
STABILIZER LINK FRONT,RH
3708097 denge rotu, 6n sag L=349 mm
54840E6000 cTolKa cTabunusartopa PAIR:3708098

&

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

3708098 STABILIZER LINK FRONT,LH
¢ denge rotu, 6n sol L=349 mm
@ 54830E6000 cTolKa cTtabunusaropa PAIR:3708097
(7 Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
2023-09 (BY APPLICATION) WWW._FORMPART.COM 20 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

KIA SEDONA Il (VQ) 06/05-08/14
TRACK CONTROL ARM RH
4905008 denge kolu, arka sag REAR
w 552404D000 pbivar PAIR:4905009
Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
_ 4905009 denge kolu, arka sol REAR
w 552304D001 pbiuar PAIR:4905008

Barra oscilante, suspension de ruedas
Triangle de suspension

KIA TELLURIDE

01/20-

? 3704030
6\ - 5453051000

BALL JOINT
rotil, 6n sag-sol, alt
Lwaposas onopa

Rétula de suspension/carga
Rotule de suspension

BOTH SIDES
FRONT

LEXUS ES (MCV, VZV)

08/96-06/08

4209278

4806906100
4806958010 S1

WISHBONE
salincak, 6n sol
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,LH

PAIR:4209279

4209279

4806806100
4806858010 S1

WISHBONE
salincak, 6n sag
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,RH

PAIR:4209278

4806906100 S1
4806958010

WISHBONE
salincak, 6n sol
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,LH

PAIR:4209281

4209281

4806806100 S1
4806858010 S2

-
7
=

WISHBONE
salincak, 6n sag
pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

FRONT,RH

PAIR:4209280

LEXUS GS (JZS 147), 300 (JZS 147) 01/93-08/97
4205026 rotil kol B 50l Alt FRONT LOWER
® Ny 4806930260 pbiuar PAIR:4205027

2023-09 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

210f 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TRACK CONTROL ARM RH
. 4205027 rotilli kol, 6n sag, alt FRONT LOWER
- - 4806830260 pblyar PAIR:4205026
Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
Y/ 4200123 rotilli kol burcu, &n sag-sol 45,1x14,2x68,7 mm
4806830260 S1 calineHTbnoK FOR 4205026/7
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
LEXUS GS (S19) 08/05 - 08/12
TIE ROD AXIAL JOINT BOTH SIDES
4207132 rotmili, n sag-sol M14x1,5;M14x1,5;L=173 mm
% 4550330080 pyneBas Tara
EV800243 Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
LEXUS IS350 08/05-09/13 o -
TIE ROD AXIAL JOINT BOTH SIDES
4207132 rotmili, 6n sag-sol M14x1,5;M14x1,5;L=173 mm
% 4550330080 pynesas Tara
EV800243 Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
AT
LEXUS 1S150 (XE20) 08/06-09/13 @
TIE ROD AXIAL JOINT BOTH SIDES
4207132 rotmili, 6n sag-sol M14x1,5;M14x1,5;L=173 mm
% 4550330080 pynesas Tara
EV800243 Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
LEXUS LS (F5) 10/17- &ﬂgm‘é’
TIE ROD END LH
(ﬁ 4202166 rotbasi, 6n sol M16x1,5
45470-59145 HaKOHEYHUK pPyNeBoit TArn PAIR:4202167
Rétula barra de acoplamiento

Rotule de direction

& 4202167

d

45460-59125

TIE ROD END RH
rotbasi, 6n sag M16x1,5
HAKOHEUYHUK pyNeBoi TArU PAIR:4202166

Rétula barra de acoplamiento
Rotule de direction

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

22 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

LINCOLN BLACKWOOD

08/97-08/03

1501063

213Z3A130CA S1

TIE ROD END

rotbasl, 6n sag

HaKOHEUYHUK pyneBoi TArm
Rétula barra de acoplamiento

Rotule de direction

RH
M18x1,5

PLASTIC BEARING; PAIR:1501064

21373A131AA S1

|ar..,
Py 1501064

TIE ROD END
rotbasi, 6n sol
HaKOHEUYHUK pyneBow TArm

Rétula barra de acoplamiento
Rotule de direction

LH
M18x1,5

PLASTIC BEARING; PAIR:1501063

LINCOLN NAVIGATOR & UN173, U228 05/97-12/06 =" =
TIE ROD END RH
¥ 1501063 rotbasl, 6n sag M18x1,5
2L373A130CA S1 HaKOHEYHUK pyneBoii TArmn PLASTIC BEARING; PAIR:1501064
o Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
3‘# 1501064 rotbasi, 6n sol M18x1,5
21L373A131AAS1 HaAKOHEYHUK pyneBoi TAru PLASTIC BEARING; PAIR:1501063
¥ Rétula barra de acoplamiento
Rotule de direction
MAZDA CX-5 (KF) 11/16 -
TRACK CONTROL ARM REAR,RH
3809079 denge kolu, arka sag, alt AWD

KB7W28500

pblyar
Barra oscilante, suspension de ruedas
Triangle de suspension

PAIR:3809080

3809080

H KB7W28550

TRACK CONTROL ARM
denge kolu, arka sol, alt
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,LH
AWD

PAIR:3809079

MAZDA 6 (GH)

08/07 -12/12

3800014

GS1D-34-200A S1
GS1D-34-250CS1
GS1D-34-250B S1

TRACK CONTROL ARM BUSH
salincak burcu
caineHT6NoK pblyara

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES
40x10,3x44,5 mm

For 3809016/7

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

23 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

GS1D-34-250CS1

Casquillo cojinete, brazo oscilante

MAZDA 6 3rd Gen (GJ1/GL) 08/13-10/17
3809075 WISHBONE FRONT,LH
salincak, on sol, st
GEA134250 pbluar PAIR:3809076
. GS3L34250A Barra oscilante, suspension de ruedas
6531342508 Triangle de suspension
3809076 WISHBONE FRONT,RH
salincak, 6n sag, Ust
GEA134200 pbiyar PAIR:3809075
: GS3L34200A Barra oscilante, suspension de ruedas
G531.342008 Triangle de suspension
3800058 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol 53,8x12,3x26,5 mm
GEA134200 S1 caineHTbnoK FOR 3809075/6
GEA134250 51 Casquillo cojinete, brazo oscilante
GS53134200A 51 Silent bloc de suspension
3800014 TRACK CONTROL ARM BUSH BOTH SIDES
salincak burcu 40x10,3x44,5 mm
GS1D-34-200A S1 caineHT6NoK pblyara For 3809016/7

GS1D-34-250B S1

Silent bloc de suspension

DS

MERCEDES BENZ A SERIES (W177) 03/18-
1909135 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, list
2473501700 pbiyar
A2473501700 Barra oscilante, suspensién de ruedas
Triangle de suspension
MERCEDES BENZ  AMG (X290) 09/18-
=\ WISHBONE FRONT,LH
/7:/ ~ 1909133 salincak, 6n sol, dist distance to silentblock 137 mm
“ 2903304500 pblyar PAIR:1909134
5 :a Barra oscilante, suspensién de ruedas
Triangle de suspension
. WISHBONE FRONT,RH
o }\\\ 1909134 salincak, 6n sag, tst distance to silentblock 137 mm
‘ 2903304400 pbiyar PAIR:1909133
‘ — Barra oscilante, suspensién de ruedas
Triangle de suspension
1900220 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol,ust
2053310700 caiineHT6n0K FOR 1909133/4;1909142/3

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

24 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

MERCEDES BENZ B SERIES (W247) 02/19-
1909135 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, list
2473501700 pbluar
A2473501700 Barra oscilante, suspension de ruedas

Triangle de suspension

MERCEDES BENZ CLA 118 05/19-
1909135 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, list
2473501700 pbiyar
A2473501700 Barra oscilante, suspension de ruedas

Triangle de suspension

MERCEDES BENZ CLS (C 218) 01/11 -
1902090 TIE ROD END LH
rotbasi, 6n sol
2183300500 HaKOer‘-IHMK pyneBoi TaArmn PAIR:1902091
P Rétula barra de acoplamiento

Rotule de direction

1902091 TIE ROD END RH
rotbasl, 6n sag
2183300600 HaKOHEYHWK Py/NIeBO TATU PAIR:1902090
p—__ X Rétula barra de acoplamiento

Rotule de direction

TRACK CONTROL ARM LH
1905164 rotilli kol, 6n sol FRONT
. = 2183300900 pblyar PAIR:1905165
()

Barra oscilante, suspension de ruedas
Triangle de suspension

TRACK CONTROL ARM RH
1905165 rotilli kol, 6n sag FRONT
a - 2183301000 pblyar PAIR:1905164
l.'

Barra oscilante, suspension de ruedas
Triangle de suspension

1900221 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT

rotilli kol burcu, 6n sag-sol
. ) 2043310017 caineHT6N0K FOR 1905164/5

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

MERCEDES BENZ GLA SERIES (H247) 01/20-
1909135 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, list
2473501700 pbiyar
A2473501700 Barra oscilante, suspensién de ruedas

Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-09 (BY APPLICATION) WWW._FORMPART.COM 25 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

MERCEDES BENZ GLB SERIES (X247) 01/19- . mu'
o
1909135 TRACK CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, list
2473501700 pbluar
A2473501700

Barra oscilante, suspension de ruedas

Triangle de suspension

MERCEDES BENZ

GLE SERIES (167)

03/19-

-
w -

1908199

1673205704
A 167 32057 04

STABILIZER LINK
denge rotu, arka sol
CTOWKa cTabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

REAR,LH

PAIR:1908200

1908200

1673205804
A 167 32058 04

STABILIZER LINK
denge rotu, arka sag
cTolKa ctrabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

REAR,RH

PAIR:1908199

NISSAN ALTIMA (L34) 08/18-
= TIE ROD END RH
~l 4102146 rotbasl, 6n sag M14x1,5
D85206CAO0A S1 HaKOHEYHWK Py/NIeBO TATU PAIR:4102147
Rétula barra de acoplamiento
Rotule de direction
3 TIE ROD END LH
w 4102147 rotbasi, 6n sol M14x1,5
D86406CAOA S1 HaKOHEYHUK pPyNeBoi TArn PAIR:4102146
Rétula barra de acoplamiento
Rotule de direction
PEUGEOT 2008 1I 08/19-
3 TIE ROD END LH
" 2102020 rotbasi, 6n sol M14x1,5
1673314480 HAKOHEYHUK pyneBoi TAru PAIR:2102021
p — Rétula barra de acoplamiento
Rotule de direction
[ TIE ROD END RH
i 2102021 rotbasl, 6n sag M14x1,5
1673314580 HAKOHEYHUK pyneBoi TAru PAIR:2102020

Rétula barra de acoplamiento
Rotule de direction

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

26 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

SATURN L-series (300) 01/01-12/05
5609154 WISHBONE FRONT,LH
salincak, 6n sol
22671495 pbluar PAIR:5609155

Barra oscilante, suspension de ruedas
Triangle de suspension

5609155 WISHBONE FRONT,RH
salincak, 6n sag
22671496 pbiyar PAIR:5609154

Barra oscilante, suspension de ruedas
Triangle de suspension

SSANGYONG REXTON (GAB) 04/02 -
7408005 STABILIZER LINK BOTH SIDES,FRONT
denge rotu, 6n
44750-08000 crogxa c:aGMnusaTopa M12x1.25R

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

SUBARU FORESTER (SK) 04/18-
- 3507022 AXALIONT VL1 5 M20c1 51325
e e e 34160SJ000 pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

SUBARU IMPREZA (GT,GK) 10/16-
3504002 ol on ag:so FRONT
20206 FLOOO waposas onopa
20206FLO0A Rétula de suspension/carga

Rotule de suspension

SUBARU XV 08/17-
AXIAL JOINT BOTH SIDES
3507022 rotmili, 6n sag-sol M14x1,5;M20x1,5;L=325 mm
I."-—-—-_L__ — 34160SJ000 pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

STOCK AND PRICE INFO ONLINE
2023-09 (BY APPLICATION) WWW._FORMPART.COM 27 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

SUZUKI IGNIS 1l (MF) 10/16-
- TIE ROD END LH
o 4302016 rotbasl, 6n sol M14x1,5
4882062R00 HaKOHEYHUK pPyneBoit TAru PAIR:4302017
r) 4882062R01 Rétula barra de acoplamiento
Rotule de direction
- TIE ROD END RH
s 4302017 rotbasli, 6n sag M14x1,5
4881062R00 HaKOHEYHWK Py/NeBO TArn PAIR:4302016
: 4881062R01 Rétula barra de acoplamiento
’—\W Rotule de direction
TESLA MODEL 3 (5YJ3) 01/17-
7109006 STRUT CONTROL ARM BOTH SIDES,REAR
> denge kolu, arka sag-sol, alt
104443100G pblyar
104443100H Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
7100008 denge kol burcu, arka sag-sol 44x12,2x48 mm
104443100G S1 caineHTbnoK FOR 7109006
Casquillo cojinete, brazo oscilante

Silent bloc de suspension

7109007 STRUT CONTROL ARM BOTH SIDES,REAR

denge kolu, arka sag-sol, alt
H 104444100E pbiuar

104444400A Barra oscilante, suspensién de ruedas

1044444008 Triangle de suspension

7 100009 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
denge kol burcu, arka sag-sol 44,1x12,2x48 mm

104444400A S1 caineHTbnok FOR 7109007

1044444008 S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension

7109008 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, Ust

104442300G pblyar

104442300H Barra oscilante, suspension de ruedas

118842300A Triangle de suspension

7109007 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt

H 104444100€ pbiuar

104444400A Barra oscilante, suspension de ruedas

1044444008 Triangle de suspension

7109008 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, list

104442300G pblyar

104442300H Barra oscilante, suspension de ruedas

118842300A

Triangle de suspension

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

28 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TOYOTA HIGHLANDER (XU40,XU50) 08/08-08/16

4209246 TRACK CONTROL ARM REAR

denge kolu, arka L=498 mm; FOR 4x4

H 4871048070 pbiuar

Barra oscilante, suspension de ruedas
Triangle de suspension

TOYOTA MR 2 11l (W3) 04/00 --3/05
4208078 STABILIZER LINK FRONT
denge rotu, 6n
r 48820-17050 C'roifua c:aﬁvmusa'ropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

TOYOTA RAV 4 01/19- "-”?—’ Y
TIE ROD END BOTH SIDES
4202170 rotbasi, n sag-sol M16x1,5
4546009300 HAKOHEUYHUK pyneBoi TAru
4546049095 Rétula barra de acoplamiento

Rotule de direction

TOYOTA VENZA 08/09-08/14

4209246 TRACK CONTROL ARM REAR

denge kolu, arka L=498 mm; FOR 4x4

:——0 4871048070 pbivar

Barra oscilante, suspension de ruedas
Triangle de suspension

VOLKSWAGEN ATLAS 05/17-

2909207 WISHBONE FRONT,LH

salincak, 6n sol
3QF407151E pblyar PAIR:2909208

3QF407365 S1 Barra oscilante, suspension de ruedas
Triangle de suspension

Triangle de suspension

2909209 WISHBONE FRONT,LH

salincak, 6n sol
3QF407151C pblyar PAIR:2909210

3QF407151E 54 Barra oscilante, suspensién de ruedas

2909208 WISHBONE FRONT,RH
salincak, 6n sag

3QF407152E pbiyar PAIR:2909207

3QF407366 S1 Barra oscilante, suspension de ruedas

Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-09 (BY APPLICATION) WWW._FORMPART.COM 29 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

2909210 WISHBONE FRONT,RH
salincak, 6n sag
) 3QF407152C pblyar PAIR:2909209
3QF407152E Barra oscilante, suspension de ruedas
Triangle de suspension
= 2900047 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol 40x14,2x54 mm
3QF407151E S3 cailneHTbnoK FOR 2909207/8; 2909209/10
: 3QF407152E S3 Casquillo cojinete, brazo oscilante
3Qr407182A Silent bloc de suspension
2900045 TRACK CONTROL ARM BUSH LH,FRONT
salincak burcu, 6n sol FOR 2909207/2909209
3QF199231D caiineHT610K PAIR:2900046
3QF407151E S1 Casquillo cojinete, brazo oscilante
3QF407152E 51 Silent bloc de suspension
2900046 TRACK CONTROL ARM BUSH RH,FRONT
salincak burcu, 6n sag FOR 2909208/2909210
3QF199232D caineHT6n0K PAIR:2900045
3QF407151E S2 Casquillo cojinete, brazo oscilante
3QF407152E 52 Silent bloc de suspension
2907130 AXIAL JOINT BOTH SIDES

B ———.  1EA423810C

rotmili, 6n sag-sol
pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

M16x1,5;M16x1,5;L=412 mm

VOLKSWAGEN ID.5 01/22-
AXIAL JOINT BOTH SIDES
2907130 rotmili, 6n sag-sol M16x1,5;M16x1,5;L=412 mm
i_ 1EA423810C pyneBas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
VOLKSWAGEN POINTER 08/98-08/05
2902054 TIE ROD END BOTH SIDES
rotbasi, 6n sag-sol
377422802 S1 HAKOHEUYHUK pyneBoW TAru
Rétula barra de acoplamiento
Rotule de direction
2906019 TIE ROD BOTH SIDES
uzun rot, 6n sag-sol
B h 377422802 cpepHAA pynesas TAra

Biellette de direction

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

30 of 32



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

VOLVO S60 | 07/00 - 04/10
3009047 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol
30666394 pbluar
31277896 Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
3000037 denge kol burcu, arka sag-sol 36x12,2x36 mm
30645401 caineHT6N0K FOR 3009047
31277952 Casquillo cojinete, brazo oscilante
8672223 Silent bloc de suspension
VOLVO Se0lll 01/19-
BALL JOINT BOTH SIDES
3004016 rotil, 6n sag-sol, alt FRONT LOWER
32298147 wapoBas onopa
32298148 Rétula de suspension/carga
31360832

Rotule de suspension

VOLVO S90 11 (234) 10/17-
BALL JOINT BOTH SIDES
3004016 rotil, 6n sag-sol, alt FRONT LOWER
32298147 wapoBas onopa
32298148 Rétula de suspension/carga
31360832 Rotule de suspension
VOLVO V-60 01/18-
BALL JOINT BOTH SIDES
3004016 rotil, 6n sag-sol, alt FRONT LOWER
32298147 waposas onopa
32298148 Rétula de suspension/carga
31360832

Rotule de suspension

VOLVO Va0 Il (235,236)

10/17-

3004016

32298147
32298148
31360832

BALL JOINT

rotil, 6n sag-sol, alt
WwapoBas onopa

Rétula de suspension/carga

Rotule de suspension

BOTH SIDES
FRONT LOWER

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

| N

VOLVO XC40 (536) 10/17 - %ﬂ
TIE ROD END RH
‘: 3002027 rotbasi, 6n sag M10x1,5;M14x1,5
| 31476 749 HaKOHEYHUK pPyneBoit TAru PAIR:3002028
- 32221546 Rétula barra de acoplamiento
32283513 Rotule de direction
- TIE ROD END LH
| 3002028 rotbasi, 6n sol M10x1.5;M14x1,5
i ‘ 31476 748 HaKOHEYHWK Py/NeBO TArn PAIR:3002027
s 32221545 Rétula barra de acoplamiento
32283511 Rotule de direction
BALL JOINT LH
= 3004018 FRONT LOWER

- @
- @
= @-

3222128351

rotil, 6n sol, alt
WwapoBas onopa, ycuneHHas

Rétula de suspension/carga
Rotule de suspension

PAIR:3004017

FLYER-2023-09

2023-09 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

320f 32



